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I. 1. B) 1 1
2. D)am*n 1
3. A) 14 cm 1
4. C) 0.00045 1
5. D) x2 1
0. B) 3487 1
7. C) 4 1
8. A) 6pq wppitb (p ~ 5q) 1
9. A) 12 1
10. C)X 200 1
11. B) @Qui ew e euengiiL_Lb 1
12. D)X 5 1
13. C) 7a + 3ab + 2b 1
14. D) 5 cm 1
15. A)X 4,320 1
1
16. B) - 1
1. 17. 1
46
35 . A @& Py =6
81
18. Lateral surface area of cuboid 1
=2h (I + b) or =2 (Ixh+ bxh)
19. F+V=E+2, 6+V=12+2 V=8 Yot Yy =
20. @uest(h) prewtsiser @Gy CrIdbFev FewTL L1 L med 1
Few_ssL16umb aflewereysarmeues {HH, HT, TH, TT}
(Csz.e16mr1. 17 (1psed 20 eueny LGV oL (hLb
GT(LPBH TGV (Lp(Lp LOBILIG)LIGETSHGET FTayL)
II1. 6 7
6(4489
21. +6 |36
127] 889 I+1=2
889
0 - /4489 =67
22. 9a2 - 16b? = (3a)? - (4b)? @a1 a2 — b2 augede o cireng. o+ =1
~a=3a b=4b . a?2-b%=(a+b)(a-bh) =2

. (3a)2 - (4b)2 = (3a + 4b) (3a — 4b)
(e18semyib aPmy pewpuied aflew_waelld@Lb LoTewToUTSEFSS
Loy PGS euipmisLii Geuehi(hLb)
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23.

D C

A B
(@uiuL_g&ed |§ + @ =140°" AP womitb BP wpennGuw |A
LommILD |§ & Foonsll LsGeper.) @)U S8
|[A+B+|C+|D=2360° |A+|B+140° =360°, |A+|B=360°-140°, |A+|B=220°
AAPB@eb

% A + é |B+|APB = 180°, %(@af@p@:lso“, %(22o°)+@:180°

|APB =180° —110°

|APB = 70°
(Lomewreuriser erGsenid AHMI (Lpevpufcd CQFUISTD (LpLp
BT aupnis Cauess(B)Lb)

Ya

Yo

Y2
Y2

24.

(i) 37.5°C, (i) 11.00 a.m.

1+1 =2

25.

QubSISH 6 cTeenlldens (X) X4 Xq

42 X,

B &6 (Y) 63 54

Yq Yo

X1 XY x, - 42x63
Yo 54

= 54 prlsafled wpgds 49 QupGomiser Csemeu

X)Xy =Xy XYy X,=

1+1=2

26.

a:l,bzgandc:§
2 7

LHS=ax(b+c) :%x(g+§J:%x(Zj:

1 1 5 5 1
RHS=(axb)+(axc)=(2x§)+(xj=—2+=/7/=

. LHS = RHS

IV.
27.

X, X+ 11 wpmub x + 22

11 @eir epeingy Q@mL_is@uwinet oL mIGsartasL (HLb

_363-33

Lx+x+11+x+22=363, 3x+33=363, x 3

~x=110, x+11=110+11=121, x+22=110+22=132
11 @eir Gam_idg@wmer epesiny tor_migsear 110, 121 wpmib

132 gy

Y2
Y2
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28. paudesr adlevav (C.P.) =% 10,000 ghlgsLi L alaev, 5
M.P. = 10,000 + 120(2) x10,000 = 10 000 + 2,000 1
M.P. =% 12,000 1
sor@pLig uier al&sb = 10%
S serepLIg = serepLiguilest al&sib X M.P.
_ 110 x 12008~ _ 3 1 500 Yo
s alpp alewev, S.P. = M.P. — gerepug = 12,000 — 1,200 =3
S.P. = 10,800 @emub = S.P. — C.P. = 10,800 - 10,000
Qb = 3 800
29.
K
Scm
i 1
Car’ (s AB @ aemgged 1
AC wpmib BC eretip alevEemar 2yenLods e
AC wpmib BC @ @ewenigdsed 1
AD wpmib DC er61p adlevsemar 2eoLndsed -3
AD wpmib DC g9 @)ewenidsev
V. 30. Osr@RSsLLC L g h = 10 cm ufg 2nr = 22 cm 1+ 2 +1+ 2+ ot
22 v, = 4
- 22 r=3.5cm ’
2n 2 x g
7
1 Qerreded o eirer sTHples Syeray = Treh
- 2—72><(3-5)2 x10 = 385 cm3
= 50 adlppsrellserd@Hs Cosamauwimest FIHHIGT 96Te,
- 385 x50 = 19250 cm? = oI = 19.25 o
= X = cm = 1000 = .
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@9Go1IT GT68T flewL_d @i aflardsLd oG 1G)L1GEsT
VI. 31. QFwevLITRS 6T I gl BHECsremTLD
aflenarump e 12 12 1,
X 360° = 120°
36
s 10 0 2
P15 — x 360° = 100°
36
weaGumppLd 06
06 1
— x 360° = 60° %
36
Bégad 08 08
Sy S5eD = 360° = 80° Yo
36
GlongsLb 36 360°
Yo
4xYH=2
Yo
=5
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